34.
a)  What term do we use when we refer to the environment that has been used and altered by humans?  (p115)


The Cultural Landscape

b) What do we call that which determines how we, as a society or culture, use the land?  (p115)


Cultural Attitudes
35.
At what point in Canada’s history did human beings begin to alter the environment we lived in or used? (p115)


The arrival of the European Settlers
36.  a)  Not all cultural attitudes toward the environment are the same.  Give an example to two cultures that have opposing cultural attitudes toward the environment that supports them. (p115)


Native People’s and fur traders       Fur traders and settlers
b) Opposing cultural attitudes can often result in a crisis.  What are the two examples of a crisis mentioned in your text that resulted from opposing cultural attitudes toward the natural environment?  (p115) 


Opposing attitudes between the natives and the settlers resulted in the buffalo almost becoming extinct.


Opposing attitudes between environmentalists and the logging industry results in loss of forests or loss of jobs-depends who wins
Settlement and Population   
37.   a)  At what point in Canada’s history did western Canada begin to experience the effects of large-scale settlement? (p115)


At the beginning of the 20th century
b) How long have human beings lived on the land which now makes up the nation of Canada?  (p115)


The Native Peoples lived on it for a millennia 
c)
Refer to question a & b above and compare the answers.  Why did it take so long from the time human beings began living here and the time that the environment became altered?


Because Native People used land and water in a respectful way—they only took what they needed
d)
The large-scale settlement that began in the early 20th century (1990s) began to alter the environment because it upset the balance of something.  What were the two things that became unbalanced?  (p115)


The use of resources and the natural environment going unaffected
38. 
The waves of immigrants that arrived in Canada changed the way the land in western Canada looked.  What look changed?  What human activities caused the change?  (p116)


Turning the prairies into farms--from wild grasses to cultivated crops.  During the 20th century, extensive farming, ranching, mining, manufacturing, and urban development have all contributed to the changes.
39.  a)  When western Canada first opened up to settlement, there were several factors that determined where they chose to settle.  What factors were considered when people were looking for a place to settle?  (p116)

The physical environment and the economic possibilities
b)
What factor(s) determines how many people will permanently settle in an area?  (p116)


Landforms and climate—Flat lan,  mild winters, adequate precipitation, and good soil
40.
What areas in western Canada follow the patterns of settlement discussed in questions 39(a) and 39(b) above? (p116)

The agricultural areas of the prairies and B.C.
41.  a) 
There are places in western Canada that are settled and experience population growth, but they lack the features discussed in questions 39(a) and 39(b).    What factor(s) account for the choice people make to settle in areas that lack these features?  (p116)

 If the physical environment, landforms and climate aren’t suitable, people can go into a place short term if there are economic possibilities—resource towns
b)
Resource towns do not follow the same patterns of settlement as other towns and cities do.  And, resource towns go through cycles of what is called boom and bust.  Explain the boom and bust cycles of a resource town. (p116)


Boom and bust is determined by the amount of the resource.  The economy booms as the resource is being extracted/developed and then when the resource is exhausted, the economy busts.
c) Name some resource towns in western Canada that became “ghost towns” when the resource that sustained them was exhausted.  Also, mention the resource that sustained the resource town.  (p116)


Barkerville, B.C. (gold)  Ocean Falls, B.C. (pulp & paper)  Uranium City, Sask (Uranium)
d) Why is western Canada’s population concentrated in major towns and cities instead of in resource towns? (p118)


Because they don’t employ as many people
Settlement Types: Rural vs. Urban
41.
a)  Define the terms rural and urban.  (use a dictionary if you need to)

Rural = country

Urban = city

b)
Since Confederation in 1867, Canada’s urban population has been increasing while the rural population decreases.  Compare Canada’s urban-rural ratio of 1871 with the urban-rural ratios of 1921, 1951 and today.  (p118)

1871 = 17% 
1921 = 45%   1951 – 54%   Today = 75%
42.
Refer to the diagram below to answer the following questions.
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Figure 3-31 The definition of a rural area versus an urban area varies throughout
the world. Statistics Canada defines an urban area as one with a minimum
population concentration of 1000 and a population density of at least 400 per
square kilometre. Below that figure, an area is considered rural. As a settlement
grows, the number of services it provides usually increases in variety and
specialization. This is known as the “hierarchy of services.” For example, within
the health-care field, the number of specialized services and treatments usually
increases with the size of the community. Only large cities have the resources and
population to supply specialists in organ transplants or even heart surgery.

people will come to live, known as
population distribution, and how
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Boundaries: The Lines
on a Map

The provincial and territorial bound-
aries of western Canada are so famil-
iar that it is easy to forget how
abstract they are. These political
boundaries are what geographers call
“artificial” boundaries. Before
European settlement, the Native
peoples, Métis, early explorers, and
fur trappers divided western Canada
according to its natural boundaries—
the recognized physical features of
Shield, plains, mountains, rivers,
and forests. Such boundaries are ill-
suited for the purposes of the mod-
ern state: political leaders like to
have clear lines indicating the
extent of their authority.

As European and, later, North
American governments began to
dominate the continent, frontier
zones were replaced by political
boundaries. Geographic knowledge
of the more remote areas, however,
was very limited. Dividing these
regions with boundaries inevitably
led to conflict. The establishment of
a boundary between British
Columbia and Alaska is an example
you will study in Chapter 7.
Another example is the 49th parallel
of latitude, which set the boundary
between British and American terri-
tory in the West. Because it cut
through plains and mountains, peo-
ple who had been accustomed to
crossing a natural area were now
hemmed in by lines on a map.

The Native peoples living in the
frontier regions did not have the
power to draw these lines on the





a)  What level of population determines whether an area is considered rural or urban?  In other words, if a population is lower than (?), it is rural.  If a population is over (?), it is urban.  25,000
b) What names are used when an area is considered rural?  Cities, larger towns, Megalopolis(several joined cities)  

         c)  What name is used when an area is considered urban?  Villages, remote farm areas, small regional towns
       d)  Compare the level of services a rural and urban community would have.


  The larger a population the higher the level of services
e)
Why don’t rural areas usually have medical specialists?

  Not enough population to support the wages of specialists

Boundaries: The Lines on a Map    
43.  a)  When the “Whiteman” came to North America, he created political boundaries.  Before the “Whiteman” arrived, boundaries existed but they were different.  Describe the difference between the “Whiteman’s” political boundaries and the boundaries that the Native peoples lived by?  (p118)


Native peoples used natural features as boundaries (rivers, oceans, forests, mountains.

Whiteman’s boundaries are artificial—you can only see them on a map.
b) Why did the “Whiteman” need political boundaries instead of the boundaries used by Native peoples? (p118)


They are ill-suited to the purposes of a modern state—leaders like clear lines that can’t be disputed.
c)
How many political units is the nation of Canada divided into?      13      (p118)


What was the latest political unit created within Canada?  NUNAVUT    When was it created?   1999 .
d)
The Native peoples living in the frontier regions of Canada do not have the power to set political boundaries but boundaries are changing in their favour.  Explain.   (p119)


The new Constitution in 1982 recognized the right of aboriginal title to Canada
Water Resources of Western Canada
The cultural landscape we see today in western Canada has evolved over a century of resource development and settlement.  Canadians are increasingly aware of the beneficial impact these activities have had on our living standards, but we are also aware of the negatives effects our development has had on the natural environment.  One part of the natural environment that has suffered is the quality of our water.  

44.
a)  Where do most of the rivers in western Canada begin? (p106)    Cordillera (Western Mtns)
b) Why does this area where the rivers in western Canada provide a constant flow of water? (p106)

High levels of precipitation and melting snowpacks
c) Where do the rivers of western Canada eventually end up?  (p107)

If they flow down the west, they flow to the Pacific.  If east, they go to the Hudson Bay
45.   a)
The abundance of water in most parts of western Canada has made many Canadians complacent.  What does this mean?


Means we don’t give it much thought—or we don’t care
b) Besides our complacency about our water supply, there are other factors that threaten the quality of our water.  Explain.  (p107)

As our population grows and our economy develops, we affect the water quality in a negative way
46.
Discuss the water quality problems with British Columbia’s Fraser River.  What is the threat?  What caused the threat?  How are we trying to fix the threat?   (p107)


We have been dumping our industrial and municipal waste/sewage into it—we’re killing it with pesticides, herbicides, and everything we throw down our drains

In the early 1990s, communities and the provincial gov’t set aside 50 million dollars to clean up the Fraser but experts say it will take 10 times that amount to fix it.
47.
What will be the issue be in the future around our water resource?   It will be water quality, not water supply
